This quéstion paper contains 16+2 printed pages]

Roll No.

S.No. of QuestionPaiqer' : 460

Unique Paper Code . : 241592 . | | E

Name of the Paper - 7: CP-5.1 Financiél Management

Name of the Course B . B.Com. (Prog.) E

Semester : .V

Duration:SHours> , o | | ' | Maxunum Marks: 75

- (Write your R.oll‘Na on the top in;mediatély on réceipt of this quéétion paper.)
(38 w-v & frreld @ S Ty g Fwifa s W T S AT 1)

Note .: Answers may be written eithér in English or in Hindi; but the same medium should be

used throughout the paper.

Froeht + T T B S S e e o A diforg o Tl IR
e T @ W AR | |

Atjcempt all questions.
All q?Jéstions carry equal marks. .
ot 7§ ITE A T |

- PT.O.




(2) ' . 460
-’(a) Vivek is about to retire. His company has given him the option of retiring with a lump
sum of ¥ 10,00,000' or with an annual pension of T 1,00,000 per annum of thé next

20 years. If the interest rate is 12%, which option should he selected 7 - 6
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(b) Explain the scope of financial managemem in present day worl.d.‘ - 9
A'aTrrﬂ %‘.ﬁma ﬁ ﬁﬁ gy & fawg-&r maﬂhaﬁﬁrq |
Or
(3rgam) -

(@) I a firm’s earnings increase from ¥ 3.00 per share to ¥ 4.02 per share over a pefiod

of 6 years, what is the rate of growth of eamings 7 , ' 6
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(b) Explain business risk and financial risk and how are they 'measured ? - 9.
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KGN
(@) Differentiate between NPV and IRR methods of Capital Budgeting. =~ 6
dew s=fen & NPV @R IRR Wl # SR wC

(b) A company requires an initial investment of ¥ 80,000. The earnings after tax for different

~ years are as follows :

Year EAT. (in %)
1 o 9,000.
2 ; 12,000
3 S 15,60’9 .
4 B 18,060.

E - 20,000

P.T.O.
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The company’s minimum required rate of return is 15%.
Find out :
() Payback ljeriod

(if) Net present value. - ) : o 9
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e B  RATQ®
L o 9,050 |
2 | 12,006
3 15,000
T 18,000'-

5 20,000’
HEH} Ea :fmn HavaH 'srﬁrw T (Rate of Return) 15% %
qdi FFTIS'EI :

)] CCC | (Payback) .Wﬂ;

i s Erchﬁ I



(s) - 460
N |

(3teran)
A company is considering a new projeét for wh1ch the investment data is as follows :
(a) Capital cost . T 2,00,000
() Depreciation S.L.M.

The expected earnings before depreciation and tax are as below :

Year ,. _ Earnings (%) -
1 S | 1,00,000
2 1,00,000
3 . 80,000 -
4 . 80,000
5 | 40,060
Tax" rate is. 40%..
Calculate : .
(a) Acqou’nting Rate of Return - S
(b) Inter;lal Réte of Retﬁrri. ' _' -' ‘. 15

P.T.O.
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(e aE s 2,00,000 -
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1 0 1,00,000
2 | 1,00,000
3 80,000
4 éo,oqo
s . 40,000

F R 46% ¢ | 
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(ar) E>.<plair.1 and illustrate the effeét of the follov/ing :

()  Calculate cost of debt

(@)  Floatation cost on cost of issue of fresh equity share capital.
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.ﬁmﬁmaaﬁ.-umaﬁr'adqﬁfmammaﬁﬁm:

() ﬂmﬁmﬁﬁq

() A T S g W W W Wy A (Floatation-

Cost) |

A company is expecting EBIT of ?"4,00,000 and belongs to risk class of . 10%.
You are required to find out the value of the firm and the cost of equity capital

if the firm employs 6% debt to the extent of 20%, 40% or 60% of the total

- fund requirement of ¥ 20,00,000. Use NOL Approach. Does the value of the firm

change with the change in debt in the (:a-pitai structure. Show the functioning of
NOI approach. : ' ' 9
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Or
(3r7am)

(@) - The following data is available for XYZ Ltd. -

®

" Sales , o 2,00,000
' Less + Variable Cost 40% | | 80,000
Contribution o '_ -1,20,000

Less Fixed Cost | ‘ - -‘80,000
EBIT o o 40,000

Less : Interest | . | : ' 10;006
BBT . - .30,000'

Find out :
(i) By what percentage will the taxable income incfease, if EBIT increases by 6% ?
(@) By what percentage will EBIT decrease, if sales dé_:crease by 10% 2

(#F) By what percentage'wil} thé taxable income increase, if sales increase by15%? 6



9 o 460

xyz fa. & fmafafen e s 2
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fagt . o "2,06,000

geTd—uftedeiter A 40% . 80,000

Jopit B 1,20,000

o s e S 80,000

" EBIT ' o 40,000

e

- 10,000

EBT | 30,000
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(b)) XYZ is planning an expansion programme which will require 30 lakhs and can be funded

through one of the following options :
(/)  Issue of fresh equity shares of ¥ 100 each at par

(ify Raising of 15% loan

(iif) Issue of 12% preference shares.

The present equity share capital cf the company is ¥ 60 lakhs and the annual

"EBIT is ¥ 12 lakhs. Tax-rate is 40%. After the expansion, the EBIT is expected to

be ¥ 18 lakhs.

Calc{qla'te v

() The EPS under all the three financing plans. Which plan should be selected ?

(if) * Determine the indifference point between the equity share capital ‘plan and’

debt plan. ' 9
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(i) 15% W w9 I
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XYZ Ltd, has the following capital structure : ~

| Particulars | | ' | . ' ®)
Equity Share Capital (§ 10 each) | | 3 ' | .15,00,000
H'%'Prefeirenc.e Share Capital (¥ 100 egch) . ' 12,00,000
Reained Eamings - | | 2000000
15% Debentares (2 100 each) o o 13,00,000
©60,00,000

P.T.O.
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The expected dlvrdend on equity share is ‘\' 3.60: The -dividend is expected to grow at
7% per annum. The market prrce of the share is 7 30. Preference shares are currently se]lmg
at ? 75 per share and are redeemable at par after 10 years A Debenture is selling at'

T 80. Debentures are redeemable after 8 years. The income. tax rate is 40%. Calculate the :

WACC usmg book value weights. - 2 . - 3 - 15
xyz fa. =1 gsi eiarﬁm TERT ¥

S | e

Eﬁaa‘tamqsvﬁ o 3 2 10) S - 15,00,000

@ 1% aqﬁziaﬂ ST (*;rﬁr . T 100) \. - - 12,00,000
‘_(m) uﬁrmﬁa CET ‘. - o o 2000000

) 15% BT o T ?.1c0) | e S 13,00,000

7.6000000
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(3Fara)
Explain stable dividend policy. o , - 6
fer v i a1 a7 F i

A company belongs to capitalization rate of 10% [t currently has outstanding 25,000

. .sha:es selling at ¥ 100 each. The firm is contemplatmg the declaration of dividend

of T 5 per share at the end of the current fi nanc1al year. The company expects to

have a net income of ¥ 2.5 lakhs and has a proposal for makmg new mvestment of

T 5-lakhs. Show that under the MM assumptions, the payment of dividend does not

affect the value of the firm. : . | : 9 E
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(¢) Write short note on any one of the following :

(b)

KG;
(if) Factors affecting capital stlr.ucture.
ﬁmﬁ@a,@m@waﬂwﬁ@q :
(i)- ?ﬁr@a‘f ez e : |

(if) %ﬁa‘ﬁ@uwﬁam‘ﬁaﬁmuﬁ.l

Liberal credit policy

. 460

From the. following information, prepare an estimate of Working capital

requirement :

)

(i
(i)
(iv)
»

(vi)

Projected annual sale

Selling price per unit

Raw material cost

Direct Labour Cost

Overhead cost _

Raw material stock

9

52,000 units

T 50

40%‘ of selling price
30% -of selling price |

20% of selling price

Average' 3 weeks
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(vii) .WQrk-in-DrogreS,s storck o ‘ | Average 4 weeks
(viii) Finished gons stock S o | Average one month
_(ix_') ..Credit al]ow.ed 10 .Débtors' | S ' ' 6 wgéks
(xj _Lag .in. payment Aof Wages anq Q\fe_riheaQS - ’ 2 weeks
(xi)_ Credit allowed by supﬁliersl-- . _ _‘ | | 8 weeks

(xif) 50% of the sales are on cash basis.

(xiii) Cash required ¥ 50,000- |

freefan oM Y v 4w snavasal &1 sTeH FIfST

() v St w%mr 52,000 T
.(r'z)‘. .uﬁr‘m fawra T | | - . T 50
(i) chm?l uulc«t ‘ﬁ T | e : | 40% ﬁﬂ"q Ll W
(iv) aﬁm EER e R R 30% faEa T
o Semam b



@

( 16 )

(vi) =l HE Elaa
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(ix) TERI ﬁ TR sy
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(xi) | eqrcgﬁfﬂiail g0 IR Ay
(xii) 50% e m afmm =R -%‘ |
(xifi)ﬂﬁ ) STETET 2 50,000
Or
@
Explain any one of the following :
(/) Motives of holding cash |

i) EOQ Model of Inventory Management.

460
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(h) Determine the maricet value of equity shares of the company from the following information

as per Walter’s model :

‘Earnings of the c_:om_pany ' ' : T 50,00,000°
Dividend paid - IR ' _' %3000
.Nl}rlnber.of shares outstanding : - _' " : | ‘1,00_.,00,0‘
"Price eafnings‘ rgtio - y o A 10
R:até of return on investmen_t ' | : S 15%

Are you satisfied with the current dividend policy of the firm ? If not, what should be
the optimal dividend payouit ratio ? ‘ : 9

P.T.O.
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